Question Paper Title : TI_20

Date of Exam : 16-07-2019 02:30 PM

Reference ID:(14083) ‘TR R SIAdr SR 3.

A AR
B .UYH R
c fgdia araara

D.&-3HATd

Answer: B.UYH dReATd

Reference 1D:(14323) SR F = 6 30T JOY = 50, OBSERVE = ?

A.66
B.76
C.86

D.96

Answer: C.86

Reference ID:(14601) A T FH TIH 9 draredr 7 fGa@iaed qul &% eehdr A0 Teher B T HH
qﬁﬁ?ﬂﬂémﬁ{ﬁwam.mﬁs% JTE THhT FHIH FeeT i
frdr 3@ e

A1
B.4
C7

D.3

Answer: D.3

Reference 1D:(14053) Choose the correct form of adjective for the given sentence:

The burglar stole an heirloom.



A.irreplaceable
B.irreparable
C.irreproachable

D.irrepressible

Answer: A.irreplaceable

Reference ID:(14350) grelr feorer gl il THhaASaR JToIGd 8id AT, X TTeliddel HIUIAT Fohed

m_L

S "

I
F




Answer:

Reference ID:(14076)  SIIGRIeq AHAAT Xeg 35l

A TTHIHTS

C.AHSwIel
D.TTRAdA

Answer: D.‘IRaE’I

Reference ID:(14336)  WTeil fadiedl Yacided) 3ichia U RIS oH fdidl 3118, AR gablar hH
35T
19, 22, 32, 46, 73, 108, 158
A.22
B.46

C.73

D.19

Answer: B.46

Reference ID:(14318)  Ud UYM g Hict T+t Y 2017 I IVHL T3 TS
HIAHHTAT Ul AT Igure Pl

AYcHl

B.INR
C.TMieTR

D.dU1%

Answer: C. YR



Reference 1D:(14071) Choose the correct form of tense for the given sentence:

If | hungry, | something from the canteen.

A.am, should eating
B.had been, would have eaten
C.was, was eating

D.has been, would eat

Answer: B.had been, would have eaten

Reference ID:(14096)  JaId AIyRIRITAT A1 ST Uaid e,
TGV Yeun-

A5 qui groy
B.&I5ol Ul
C.3igaea Myt anff ammor

D FHIR] HTH gUf gIvl

Answer: B. ol F'Fqﬁf

Reference 1D:(14330) TR Plal.
96, 50, 55, 39,42 & 18

A.40
B.60
C.50

D.30

Answer: C.50

Reference ID:(14328)  XUMGR 30T AfgeedT IHM aaid TOMR SIhH 5:6 3. ITd TN § TONTR
3IhH 6:7 BIsd. AN AR IAHH a9 B 3752

A.35 a8



Answer:

Reference 1D:(14325)

Answer:

Reference 1D:(14335)

Answer:

Reference 1D:(14301)

Answer:

B.37 d%
C.38 9%
D.39 9%

A.35 d%

JEdT AT GaY JTEaSarsl HIUde! [GdRi Adl. dR AAIRT JUT U
P 38?2

A1/2

B.1/6

C.A/7

DA

cArmr

HHRTPS G TR i 3178, T 17 Drc Yadd MO G 14 HIC Y&dd.
15 ¢ Y&l ST TR BRGNS A Gl fbat ToieRm e firgesra?

A.1:3
B.3:1
C.21

D.1:2

D.1:2

SHUTR TG Ufed T 31 & (HTa! IMHAHR HHRAT [d810]) TR H%
3for o=, Jafeh, Iuafc, feer onfor &R (Taslelidtr]) Tt
T faafd WRATT S0 UER SNfYT Isammed fRyd 3mg?



Reference ID:(14095)  Jelaud! draied quii = GIUMRT Vg, ST,

A it

B.<dds

C.del

D.ddddb

Answer: c.dgl

Reference ID:(14086)  fadiedl 4T ‘ddd (Afed) U sl

ASId
B.g9dl

C.dyqdid

D. S

Answer: D.dyd

Reference ID:(14092)  U&Id AraHe T d 3oy ©Tal.
SIURTY el ATEY, § Rieg o BT fohar =l fRrem o i,

AYTT

B.UYd
c.ad

Answer: D .far

Reference ID:(14302)  R8¥ SHTIOT HETHRUT Crah edT Ja-ehUT SIf0T RIG<T YRGS AT 3ed fH=H
(TTHSRYEY) GR W dl Sp¥dl [RER 2019 I3t 3 Y S
faord BIa.




Answer: B. Y U

Reference 1D:(14065) Choose the option with the best prepositional phrase to complete the given
sentence:

My aunt advised me not to take life , but to work hard and
live a good life.

A.
on the move

B.
by the neck

C.
for granted

D.at any cost

Answer: C.
for granted

Reference ID:(14098)  WIeliciUe! HIUMI HERTY Asurmdie Gaid HIST Seifaggd Ubed g7
At
B.ART
C.aquif

D. BT

Answer: D.ﬁTFlT

Reference ID:(14081)  Gald a1 dTg TRY JToRIT 3Nicsl.

AT GEIdTT Gliaid a2l fesra.
B.M Gglda wdad g9 fiesaa.
C. i1 ggTdi<an uRiafd u< fHesad.
D. el GgTd I URI&Td a2 fesda.

Answer: B.AM™ EE'ITﬂ?CIT wiad I fHsda.



Reference 1D:(14061)

Answer:

Reference 1D:(14315)

Answer:

Reference 1D:(14340)

Answer:

Reference 1D:(14064)

Choose the most suitable determiner for the given sentence:

kittens are taught to hunt by their mothers.

A.Much
B.Any
C.Most

D.More

C.Most

URieE AVHRT oI HeR fhar TqH@ YRUIMAER 8 a1 Isamved fRud 3mg

AXTSTRITT

B.ToRTd
C.HEYUCY

D.JREe

AXTSTRITT

e St Ay e fag e guf o
5,6, 10, 19, 35,60,

A.84
B.96
C.112

D.125

C.112

Choose the appropriate prepositions for the given sentence:

Cosmic rays can not only damage the front end a rapidly moving
spaceship, but also go the ship and astronauts themselves.

A.of ... through

B.at ... into



C.for ... with

D.on ...by

Answer: A.of ... through

Reference 1D:(13848) Choose the option that has the correct spelling.

A.Adhesive
B.Adhecive
C.Aadesive

D.Adhasive

Answer: A.Adhesive

Reference ID:(14316) ST UMY Ue fg-2019 o OiH &1 gidfi?

A THYSD USTT 0T gaTHH 9 d
B.Iafardt umyes ue
C.UMYes U ared]

D. UMY U WU A ged 38

Answer: A UMY TR 10T g ded

Reference ID:(14303)  Hdl fedh 1 gul HEMTRUTTIb = dloidt=
3fTgd.

ATfge

B.gu=N

c.fag=n

D =T

Answer: Agfgen



Reference 1D:(14058)

Answer:

Reference 1D:(14331)

Answer:

Reference 1D:(13849)

Answer:

Reference 1D:(14305)

Choose the appropriate articles for the given sentence:

opening of Indian economy has led to emergence
of India as market for textiles.

A.The, the, an, a
B.A, an, a, an
C.The, an, the, a

D.An, an, the, the

A.The, the, an, a

3T ST 3FH & G 0 THHBH AR 320 A SdRTaR JEdld. 3dd
P19 ATSTdl o= =it 70 TS AT A= TR foRI Jararg godTd
B, AT e Hlfed TG dl G AR, eI TRITRIH el

TR R TRt 20 TS I S TaR HR). @R <t S DIl dabt Hedia?

AGURY 1 dTSTdl

B.gURI 1:30 TToId

C.QURI 2 Trord

D.gURI 2:30 dTeTdl

AGURT 1 aTold

Choose the option that has the correct spelling for the missing word in the
given sentence:

Check the if you want to be sure of the date.

A.calender
B.calendar
C.callendar

D.collander

B.calendar

TUIA 2019 A YR THIHY e doledl UlgedT Wil did Jeeared
3% SgabId A1d B 3HTg?

A SIRIIRd



B.YT™
c.fasm

D.UeR

Answer: B.Y4q¥

Reference ID:(14344)  Udh oAl YA 3R 3 fohHl/d, 4 fopeil/arg 3for 5 forl/dr am UR @l
3{TFOT Tl U 47 HIAC 9 ARTAY. TUHUT 3R HIal.

A.3 fobHt
B.4 fobeit
C.6 fopdit
D.9 fobHit

Answer: A.3 fopet

Reference ID:(14327) AR dT6+ TRE! HRUIMHIS! 80000 0T P weial. foH fas a8 o Afg=arat
4600 ¥UTTH TRABS ol fa= ddbar dbdl IgHH Ud dhall?

A.55.200 ST

B.82,800 ST

C.83,600 ST

D.81,000 3UY

Answer: B.82,800 peps |

Reference ID:(14334) SR 4320 =23x3Px5¢ 3 TR a, b 3101 ¢ =1 fhwcl el

A.a=5b =3, c=2
B.a =4, b=3, c=2
C.a=5, b=3, c=1

D.a=4, b=3, c=1

Answer: C.a=5, b=3, c=1



Reference 1D:(14317)

Answer:

Reference 1D:(14311)

Answer:

Reference 1D:(14072)

Answer:

Reference 1D:(14051)

SiRIeR-2018 HEll, HERTYAT fSrermed fayrid sifgan
TR SMNST P Bl

AgO
B30I

oIS
D.ATRI%

D.ATRI%

el SigTRd RIBR 2019 13! WU BT a8 HRuard Set?

A.H8Y TAHddR
B.U1.%g1. iy
C.Ul.P. SoTaal
D.3{f¥e aee

A.T8Y TAHddR

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

The food at last night’'s wedding was tasty.

A.Repugnant
B.Delicious
C.Satisfactory

D.Gorgeous

B.Delicious

Choose the appropriate option with correct punctuation marks for the given
sentence:

i saw a gift in the shopping mall but it is too expensive

A.l saw a gift in the shopping mall. But it is too expensive!



B.I saw a gift! in the shopping mall but it is too expensive
C.l saw a gift in the shopping mall; but it is too expensive

D.l saw a gift in the shopping mall. But it is too expensive?

Answer: A.l saw a gift in the shopping mall. But it is too expensive!

Reference ID:(14337) |l 400 auiAL 29 fdaw sraaran HfgHT fardt daT adl?

A.4497 JBT
B.4490 A1
C.4487 d3]

D.4480 d3&T

Answer: A.4497 BT

Reference ID:(14094)  S§! favei Ugg Hivrd?

AT D
B, T d
cH, @, d

DA, S, 3

Answer: AdI, Eﬁ, g

Reference ID:(14077)  TRepTe ST 91 Xeq 4R SIS RTeq JUT .

AYs
B.Uh S
C.HR

D.YThcT

Answer: A.YsS

Reference ID:(14310)  WTeleiUdh! BV SHTATTIT HERIPT Fald qeevl Hd WAl Afge Sfea?



ARRE TR
B.¢d% BSUG
C HHIgR Wit
D. 3721 TG0l

Answer: ARG UdR

Reference 1D:(14069) Choose the correct form of verb that is in agreement with the subject:

The cow, as well as the horse, on the grass in the field.

A.feed
B.grazing
C.is feeding

D.are eating

Answer: C.is feeding

Reference 1D:(14067) Choose the appropriate conjunctions for the given sentence:

| will finish the work long it takes.

A.and so
B.after
C.however

D.though

Answer: C.however

Reference 1D:(14068) Choose the most appropriate usage to fill in the blank in the given sentence:

repeated reminders; Deepa forgot to call the bank.

A.Despite
B.Respite
C.In spite

D.Unspite

Answer: A.Despite



Reference 1D:(14056)

Answer:

Reference 1D:(14314)

Answer:

Reference 1D:(14339)

Answer:

Choose the option with the appropriate prefix to complete the given
sentence:

Experts believe that ___ stroke therapy is the only sure-shot way a stroke
patient can recover.

A.pre-
B.post -
C.ante-

D.counter-

B.post -

BgdRT 2019 A, 'UCIcdh(PETROTECH)-2019' AT YRATH UE SRS IBIa-
giRyeHt 13 dt 3frait Y ST bl et BIa.

ATES
B.dsIg
C.JeX AusT

D. SRR

CIe AT

ST ARy Yawmd U wata g el dd fom 15% Jamd e
TSAITo! Sach. FRicee Afgeied IGAHLYA ot Thar 40 THRdq fdhal 70 T3
WA B Yebd BIdl. SR dt 35 il WAl bed, TR ol AU fobelt Yopeics
TG B Yhd?

A.35

B.40

C.15

D.20

D.20



Reference ID:(14308) 61 T AfAUM gl dIAgR HRATHEA Adkid HdaME 99 & 18
I9 ¢ FHH! o .

A.25 NI
B.23 ANURHA
C.21 N
D.27 auTURA

Answer: C.21 auTURE

Reference ID:(14100)  fART Uehed BT WIelieiten! 10Tl IsaTHed fRUT 3Mg?

ATERTY
B. A U
C.IW U™

D.[agR

Answer: A.IIBT\’TQ

Reference 1D:(14343) TISdl: 81+82+83+84+85+86+87+88+89+90-55 = ?
A.955
B.900
C.855

D.800

Answer: D.800

Reference ID:(14326) 3 U HICRU™H ! TRl 38, HIER A& ad! fhHd 92750 I 3G
T BTATHE Tad 87150 U 3Med. AICR AHhd WXa! HRUrTa! Tl
3TURE! fobell SUdTe TR 31187

A.5650 ST
B.5500 3T



C.5700 ST
D.5600 ST

Answer: D.5600 ST

Reference 1D:(14070) Out of the following options, identify a compound sentence.

A.The school teacher was late to his class.
B.The school teacher ran to reach his class.
C.The school teacher was late to his class so he ran quickly.

D.Jungle can be dark and dangerous.

Answer: C.The school teacher was late to his class so he ran quickly.

Reference 1D:(14052) Choose the correct form of adjective for the given sentence:

He is an businessman.

A.able
B.artful
C.acumen

D.adopt

Answer: B.artful

Reference ID:(14093)  U&ld ArTdid [aRTATE 3fies.
TRTIUN Yd Iid Arg faemds, SER A1, 996, 7T A0 3T S,
HIdArEUs RIS 3fTe.

A.3UIaRT™
B.UsIg
C.Wcufa™

D.37¢ffavmH

Answer: C.XaufaR™



Reference 1D:(14066) Choose the most suitable conjunction for the given sentence:

She bought herself a map she wouldn't get lost.

A.so
B.since
C.so that

D.therefore

Answer: C.so that

Reference 1D:(14063) Choose the correct form of modal auxiliary verb for the given sentence:

Dileepan do such a thing.

A.wasn’t
B.hasn’t
C.wouldn’t

D.isn’t

Answer: C.wouldn’t

Reference ID:(14087)  Jeld dledTdidl SodTal YR SIS,
‘3[9§! Hdel ol T

A R[eCN 3T
B.SHI! 30y
C BNl 3o
D.fohaTfa=ITT 3fay

Answer: C.haavaNt 3y

Reference ID:(14075)  faoiedn Weqrerd favgrdf Trsdt sfies.



Answer:

Reference 1D:(14313)

Answer:

Reference 1D:(14333)

Answer:

B.FIaR

20 ST YABTHAT FHATd e HraRhR ST HIUAT [ shifdb Rt Hue-dt gard

bl

A 3R Tftrat

B.31fYg YR

C. SR
D. HRAHTIT 3ITRIERH

B.3{TYd HRd

Tl fededn IR Udides! HIvTdT U @iet faaiedT Ui SiE@uu Jod
TR1?

300 Soi Sukhumvit 55, Khlong Toei Nuea, Khet Watthana, Krung Thep
Maha Nakhon 10110, Thailand

+66 2 020 8000

(i) 300 Soi Sukhumvit 55, Khlong Toei Nuea, Khet Watthana, Krung Thep

Maha Nakhon 10110, Thailand

+66 2 020 8000

(ii) 300 Soi Sukhumvit 55, Khlong Toei Nuea, Khet Watthana, Krung Thep
Maha Nakhon 10110, Thailand

+66 2 020 8000

(iiif) 300 Sai Sukhumvit 55, Khlong Toei Nuea, Khet Watthana. Krung Thep
Maha Nakkon 10110, Thailand

+66 2 020 8000

(iv) 300 Soi Sukhumvit 55, Khlong Toei Nuea, Khet Watthana, Krung Thep

Maha Nakhon 10110, Thailand
+66 2 020 8000

B.ii
C.iii

D.iv

C.iii



Reference 1D:(14097)

Answer:

Reference 1D:(14345)

Answer:

Reference 1D:(14309)

Answer:

Reference 1D:(14073)

eId 1T Jafadial 3fge ariaR Hasl.
HCHREIATE ATE MAHIIAT AT,

AR G8uUl
B.3{HT 20!
C.3ATHIR ST g0y

D. UG Ul ARTON

D. UG Ul ARTON

HISdTl: 298 x 57 = (298 x 50) + ?
A.298 x 1

B.298 x 57

C.298 x 7

D.298 x 50

C.298 x 7

YR Jaied Ty begl SHf&Iard 3ma?

A.26 STHARI, 1956
B.28 SMdRY, 1950

C.15 3Re, 1947

D.09 AR, 1948

B.28 SM4RI, 1950

Fieor T AsgraTa ! FHHT Weg HIUET?

A ST
B.&AI



C.anfu=
D. A

Answer: B.?ﬁ;}fﬂﬂ

Reference 1D:(14054) Fill in the blank with the correct noun for the given sentence:

It is only in the animal that scent plays a key role in common life
structures.

A.kings

B.kingdom

C.line

D.history

Answer: B.kingdom

Reference ID:(14099) AT 3Mdha HIedMEd HRAMET e+ Aed HRUIMTS! IFTa 2019 HH
DIUTAT STIIART Y& Hall?

AdEl
B.&dl

CURI
D ferar

Answer: A.EﬁFﬁ

Reference ID:(14090)  Ueid aragiadia favioor e,
3ATETS! 3 argat o, 3nfor fomm darstn febdt Hia

ASTgal
BTl
C.3fiaTg
D.HIGT

Answer: D.Iﬁ'o“T



Reference ID:(14079)  JaIdl a1 IR arad .

A MR Qs T TToT=!
B.YRIE M 3T AT IO
C.SIPH 3] df Mo

D.TdT AT Wb 3!

Answer: B.YRd T 3T 1T TT0gT=!

Reference 1D:(13850) Which of the following sentences uses apostrophes correctly?

A.Soap do'esnt allow germs to multiply and spread.
B.The childrens's bicycles were stolen.
C.These are my favourite breakfast cereal’s.

D.Follow the doctor's advice, and you will recover soon.

Answer: D.Follow the doctor's advice, and you will recover soon.

Reference ID:(14312)  WhgdR1-2019 T fTYUCR ATHIU T Uh U] 3T HRd
WRBRA 455 T Sl HoiraTe! Wrert e,
A ZTTIAT STREHE §h (33T
B. IR R¥cic 9 (S3HTTe)

C. TR ZIPREFER S g6 (TI3MTe)
D TR §% Bk RecarM 3fg Smauic (3a1sRaY)

Answer: C. TR STHRERR TRICHE db (TSI

Reference 1D:(14057) Choose the option with the appropriate prefix to complete the given
sentence:

You acted negatively because you are informed about the situation.

A.un-
B.re-
C.mis-

D.dis-



Answer: C.mis-

Reference 1D:(14089) TTeTd - SYUIR] g i34l

A
B.9TY
c.aar

D.TiexT

Answer: D."ie]

Reference ID:(14306)  HERIFIT Hdled @i-ol SrgcIel WIeciUeh! BIUT faHTT 382

Aol
B.3MRTETG
C.PiHU

D.ARTR

Answer: D.ANTYR

Reference ID:(14091) a1 Ug1g Mag SIS! @,
&Y

ATTSA
B.TI&dl
C.Tm3el
D .3t

Answer: Al IIB@I

Reference ID:(14319)  'a&U1 2019' §1 § =1 Yeardiat Miaraed oo afd Met Aiea snary ofig.
7 fguehar SnararTd! YRARSd SIvrT S FeHHT §IUR 3118?

A
B.4 d@T

C.HI1HR



Answer:

Reference 1D:(14324)

Answer:

Reference 1D:(14080)

Answer:

Reference 1D:(14320)

Answer:

Reference 1D:(14307)

D grcS fdbiren

A

‘TRANSISTOR' RTeaT J&THYA T 31&RT refwshyul FAag dal el
Mg, Faedd 31eR o YU YU B TR ?

A.3/10

B.7/10

CA/2

D.3/5

B.7/10

Jaid araTel UhR SHicswl.
IRIG SITITaR HIUIde] HATU HTH Tgof o d.

A gt
B.fary ara
C.Igad aI’
D.had a1

D.%ad i

WA DIV 3MEYAH HRAT S’ U SIurd Sl

A ST 9% desit

B s TR

C ISR HigH A4
D.3%R d% fdgRrR

C ISR A5 1T

T TP T HosdTe STy Uebed FU SIUTet Offd § HERIPd $o RUd
318

A0



B.3MFRIad!

C.ANTR
BRGIIRIE

Answer: B.3ERIGd!

Reference 1D:(14059) Choose the appropriate articles for the given sentence:

It was ordinary day in life of Jitender, young boy
from city of Jalandhar.

A.a, the, the, the
B.an, the, a, the
C.the, an, the, a

D.an, the, an, the

Answer: B.an, the, a, the

Reference ID:(14074)  faoieur yafaite! arg fasgrdf wsg arema e areg quf e,
AT SFUTET YU AT AT -meemeev T,

AT
B.HT

C.&RT

D. IR

Answer: C.a

Reference ID:(14084)  “HI § ®H &= b1 RATT 35l

Answer: A.E’.T*I'I'@TI?[



Reference 1D:(14060)

Answer:

Reference 1D:(14082)

Answer:

Reference 1D:(14321)

Answer:

Reference 1D:(14078)

Choose the correct form of verb for the given sentence:

She said that she the opportunity to show that she could play a
serious film role.

A.rejoiced
B.welcomed
C.greeted

D.cheered

B.welcomed

e STl v g s,
RERGIICERUIEES R T Dps ) 1 p— 8 ATRIGYFHRUIT Tedh Ted.

Al
B.fadufasr

cad
D.3ddR

B.Agufasdr

A4 Sl B YT He 31O THBH SR UBTRITAT Haeid 313,

B.URUCH
CdsaxPH
DA

CEsaxPH

GTeite areTeite SIeRad Trsara foltT siiesar,
d= S Tuch wd el

AT
B. Tlfei

C . AYHBIAT



D.3HITCHT

Answer: B.Eﬂﬁ‘m

Reference ID:(14088)  Resmer Wit avg wafy fRaa.

Answer: A.Fljlﬁ

Reference 1D:(14062) Which of the following options best combines the two given sentences?

The children saw the monkeys. They ran away in fear.

A.Though the children saw the monkeys, they ran away in fear.
B.The children saw the monkeys when they ran away in fear.
C.The children saw the monkeys because they ran away in fear.

D.When the children saw the monkeys, they ran away in fear.

Answer: D.When the children saw the monkeys, they ran away in fear.

Reference ID:(14322)  WTAIcU! HIUNd $4 S@edHdR Al arqugyu U0 grga?

ATISR 719
B.TaUTSil

C dTesaid Mg d /0T
D. IR

Answer: C.aad Tﬂéﬁ Qo

Reference ID:(14329) &I a9IYdl, 3{¥URd 99 AT aareA] (A gid. SR el aaHH aard OIR
5:6 3, TR I IAHH gaTd! Skiel B SHAA?

A.20 9



B.33 9%
C.25d%
D.30 9%

Answer: B.33 aﬁ

Reference 1D:(14055) Choose the appropriate collective noun to complete the sentence:

lay before the detective and it was tough for him to make a right
decision.

A.A circle of evidence
B.A battery of tests
C.An array of facts

D.A pile of papers

Answer: C.An array of facts

Reference ID:(14338)  Udh WG 24 YhaHe 200 HIC YUradl. Il a7 3Tg?

A.10 THHa
B.17 fhdi/am
c.27 fedtam

D.30 fpdia™

Answer: D.30 M/am

Reference ID:(14085) AR =0T U4 (GG TMescledl SR HRT .
.......... TS Hodl ARG,

A ZTThdl
B.3THat

C.HE
D.AlhdMHT

Answer: B.ETI'IT:h_vﬁ



Reference ID:(14342) 5 Hfgal fdar 8 Geit T &M 84 faawid qof #rard. 10 Afgan for 5 gt o=
o forcdt feawia gof sxaia?
A.14
B.32
C.20

D.24

Answer: B.32

Reference ID:(14341)  1291.85 SUHHT 13 TRT 10T 9 Gahx WREI el SR M TRRR] fbdd 74
FUY 3. HH R fbrd drer?

A.35.65%.
B.36.65 %.
C.37.65%.

D.38.65 2.

Answer: B.36.65 3.

Reference ID:(14304) 2019 aNTT3! [ISEH-HIST Sf3RATS! Wehiaie U fAas et Teit?

A ST Hige
B.XY H-18
ORI
D.fag gan

Answer: B.XY HIS

Reference ID:(14332) SR FRIEND dT ¥idhfde ¥eq IRFDNE 31T §-d SITd 34d R RELATION
Ell {-Iiabi?lch Xloc Pl g-dd] \Sllsrﬂ?

A.NOITALER

B.ALERTION



C.ALERNOIT

D.RELANOIT

Answer: C.ALERNOIT



